NEEEE : [T —F51072713785A%

RAMRBUT AR/ BME107FESB014L 55015 1t Ff W + 3t 5z 22 W0 7 1

T /B YW B T

IR REFIE T

BERR EEREEE EEAK REL .
iR R E EFEE fhIBREF A 2 — _ _ " =
3 52 VAN / 2! T =/\
HETE BNER h/EE SR HEFELSLR) s E-JN P EBAES (78) B(r) (78)
1.2YP 88 - &,
107-01-001 FHIREE RER 0818-0000 3,045.00] HEBRXE/RWAM 1/1 hREBEETHES 1,600 4,872,000 488,000 [|2.#=tHMEH : &
3. JEHE KA.
1.2YP 88 - &,
107-01-002 FHIR4E BER 0830-0000 2,754.00| $SEBXE/BIA 1/1 hREBEETHES 1,500 4,131,000 414,000 |2.#=tHHEH : &
3. JEHE KA.
1.2YP 88 - &,
107-01-003 FHIREE B 0638-0001 955.00 HEREE/BY At 1/1 ERBEETHEE 1,600 1,528,000 153,000 [2.#t=tHHEH : &
3. JEHE KA.
1.2YP 88 - &,
107-01-004 FHIR4E BRI 0644-0000 2,813.00| $SEBXE/BIA 1/1 BERBEETHEE 1,600 4,500,800 451,000 [|2.#t=tHHEH : &
3. JEHE KA.
1.2YP 88 - &,
107-01-005 —&H BRE 1010-0000 1,497.00| HSEBXEE/RBIAL 1/6 REFEEHRNEH 1,100 274,450 28,000 2.3 =+t HBEH : A,
3. JEHE K.
1.2YP 88 : &,
BEBXEREEER 23 =+ HEKW : &,
107-01-006 —& 3 0214-0000 ) & 347, ; =
%8 FHER 2,970.80 " 1/2 RRBESEEH 3,600 5,347,440 535,000 JE2R2BREE(RPRER
i), oM,
1.2YM R &,
2.3 =+FMAH : £,
107-01-007 = 3 0288- ) E E 4 , , =
= HREER 0000 466.08] #EREE/BHAi 530/2578 ABEESEEH 2,100 201,221 21,000 3 AR BERIRE
Z50)o
1.2YF9 R - 3TLR500,
502, 504, 506%% , #/ME
107-01-008 —& p 0327-0000 ) E B & , . ’
45 $ B 84343 HEBEE/BKAM 530/2578 ARBESLEH 2,200 381,473 39,000 Ba2sEB(RD).
25 = HALN ; &,
1.2YM 6 &,
2.3 =+FEH : £,
107-01-009 = 3 0328-0000 ) E E 4 425, , =
= HHREER 648.13| HSEBEE/BYA 171 ABSEESEEH 2,200 1,425,886 143,000 3 B R R R
).
107-01-010 =& KEE 1112-0000 5718.72 HNIE/ZEEER 1/33 BXE 3,200 554,543 56,000 1.2V RS « &,
2.3 =+FMAH : £,
107-01-011 = E 1112-0000 ) 1B -
w4 KEER 5718.72| BNE/ZEERER i 1/33 B 3,200 554,543 56,000 3B RN R REER)
107-01-012 Y | KEER 1112-0000 5718.72| MNE/ZERER i 1/33 Bt 3,200 554,543 56,000 , ZB4 1 b 45 st AE A
107-01-013 =& KEER 1114-0000 3,357.56| MNE/ZEZEERi 1/33 Bt 3,200 325,582 33,000 1.E2YME : &,
— 2.3 =+FMAH : £,
107-01-014 = E 1114-0000 ) 1B 25,582
=B KEE 3,357.56| MN[E/ZCEEEMM 1/33 BXEB 3,200 325,58 33,000 SEEREL. TEGRIR
107-01-015 &9 KEER 1114-0000 3,357.56| MNE/ZEZRERi 1/33 B 3,200 325,582 33,000 FERE) , o,
107-01-016 —#&% KIEER 1111-0000 6,367.01| HNE/ZEEER M 1/33 B4 3,200 617,407 62,000 1.B2YP9RE « &,
— 2.3 =+FMAH : £,
107-01-017 = E 1111-0000 ) @
e KR 6,367.01 BHE/ZERERM 1/33 BXR 3,200 617,407 0200 |3 smmemckares
107-01-018 &9 KEER 1111-0000 6,367.01| HBNE/ZEZERih 1/33 B 3,200 617,407 62,000 i) , EBDZE i,
107-01-019 =& KEER 1087-0000 11,694.69 4SERHEE/RBIAM 1/33 B4 1,200 425,261 43,000 1.2V RS « &,
— 2.3 =+FAHY : £,
107-01-020 = E 1087-0000 ) = = -
4 KEER 11,694.69| $SEBREE/ BN 1/33 BXE 1,200 425,261 43,000 3 B2 R REER)
107-01-021 Y | KEER 1087-0000 11,694.69| $SEBREE/ BN 1/33 B 1,200 425,261 43,000 , BBy i AR,
107-01-022 — =4 KEER 1113-0000 5,850.74| BNE/ZERER i 1/33 BER 3,200 567,344 57,000 1.2YF 08 &,
2.3 =+FMAH : £,
107-01-023 = E 1113-0000 ) ¥ [E p , ,
w9 KEE 5,850.74| MNE/ZEEEMR M 1/33 BRR 3,200 567,344 57,000 AR AR REE
107-01-024 ¥ | KEER 1113-0000 5,850.74| BNE/ZERERih 1/33 BXA 3,200 567,344 57,000 50, Sz,

F1H » H4H




NEEEE : [T —F51072713785A%

RAMRBUT AR/ BME107FESB014L 55015 1t Ff W + 3t 5z 22 W0 7 1

b 25 Ex R R E REws ﬁﬂlﬁ%ﬂfzgﬂﬁk RERELE RERE RES " &
S ] 5= 7N V=t N7y —UAN o = | — _ _
WETE BN /R HEFSALR) R R EIN £REE ERNES (7T) f&(T) (7c)
107-01-025 —&H KEE 1113-0000 5,850.74| MNE/ZEEER M 1/33 BXT 3,200 567,344 57,000
107-01-026 —&H KIE R 1113-0000 5,850.74| HMNE/ZEEEMM 1/33 B£45 3,200 567,344 57,000
107-01-027 — g KEER 1113-0000 5,850.74| MNE/ZEEEMR M 1/33 BXRE 3,200 567,344 57,000 T
107-01-028 — &4 KER 1113-0000 5,850.74| MAE/ZERERH 1/33 B 3.200 567,344 57,000 | b=+ EiAK - M.
107-01-029 — &4 KEBR 1113-0000 5850.74| B/ ZERER 1/33 Bt 3,200 567,344 57,000 [|3SABR=GE(RFRER
i0) , o=,
107-01-030 —&H KE R 1113-0000 5,850.74| HMNE/ZEEEMM 1/33 B % 3,200 567,344 57,000
107-01-031 & KEER 1113-0000 5,850.74| MNE/ZEEEMR M 1/33 BXH 3,200 567,344 57,000
107-01-032 —&H KEER 1113-0000 5,850.74| MNE/ZEEEMA M 1/33 BIER 3,200 567,344 57,000
107-01-033 —&H KEER 1115-0000 9,365.53| MNE/ZEEEMA M 1/33 BER 3,200 908,173 91,000
107-01-034 — &0 KER 1115-0000 9,365.53| MNE/ZEELMA M 1/33 BRR 3,200 908,173 91,000
107-01-035 —&H KIE R 1115-0000 9,365.53| MN[E/ZEEEMM 1/33 BXE 3,200 908,173 91,000
107-01-036 — & KEB 1115-0000 9,365.53| MNE/ZEEER 1/33 Bk 3,200 908,173 91,000
107-01-037 —&48 KER 1115-0000 9,365.53| MI[E/ZEEEM 1/33 BIEXR 3,200 908,173 91,000 1Ry - &,
25 =t HBEY : &,
| - — K T — A |58 3] 1 I —_—
107-01-038 —& KER 1115-0000 9,365.53 MNIE/ZEELEM M 1/33 B 3,200 908,173 91,000 3 ERBS AECRIHR IR
107-01-039 =& 8 1115-0000 9,365.53| BNE/ZERER 1/33 4| 3,200 908,173 91,000 |fC) . BB,
107-01-040 — & KEB 1115-0000 9,365.53| MNE/ZEEE i 1/33 B&4 3,200 908,173 91,000
107-01-041 —&H KEER 1115-0000 9,365.53| MNE/ZEEEMA M 1/33 BXRE 3,200 908,173 91,000
107-01-042 — &0 KEER 1115-0000 9,365.53| MNE/ZEEEMAM 1/33 BXE 3,200 908,173 91,000
107-01-043 " KEER 1115-0000 9,365.53| MNE/ZEEEMA M 1/33 Bl 3,200 908,173 91,000
107-01-044 =& KER 1116-0000 6,524.10| WERXE/RUAM 1/33 B 1,200 237,240 24,000 |4 zmappeps -
— 23 =tRBEY : &
107-01-04 = = 1116- . = £ 237,24 24, — i
07-01-045 = KER 6-0000 6,524.10| HEREE/RBWA 1/33 BXE 1,200 37,240 000 S ETE R R
107-01-046 bl KEE 1116-0000 6,524.10] HEBEE/BWAM 1/33 BR% 1,200 237,240 24,000 o EEER,
107-01-047 — &4 KEER 1098-0000 2,918.61 HMNE/ZERER 1/33 BER 3,200 283,017 29,000 1 Z3.F e
—& E ,918. & # ' ’ ’ 4. R #{EHR1,2007T,
107-01-048 fl 1 KEER 1098-0000 2,918.61 HMNE/ZEBREMH 1/33 BSTR 3,200 283,017 29,000
107-01-049 bl KEE 1098-0000 2,918.61 HMNE/ZEREMH 1/33 B ARk 3,200 283,017 29,000 12908 - &,
2.3 =+ HEH : &
107-01-050 —& K TE 1098-0000 . S by 283,017 29,000 _
i KER 2,918.61| MNE/ZEREMH# 1/33 BXA 3,200 IR =ER(CRPREFR
107-01-051 —E4 KEER 1098-0000 2,918.61 BRE/ZERERM 1/33 BAK 3,200 283,017 29,000 |&C) , PO =M.
107-01-052 — & KEER 1098-0000 2,918.61 HMNE/ZEREMH 1/33 B&4 3,200 283,017 29,000
1.EZ3.@ T,
_01- — K T — N &= pi
107-01-053 == KEER 1098-0000 2,918.61 HMNE/ZEREMH 1/33 BXRE 3,200 283,017 29,000 4R B 001 7
107-01-054 == KEER 1098-0000 2,918.61 HMNE/ZEREMH 1/33 BXE 3,200 283,017 29,000 S
107-01-055 — &0 KEER 1098-0000 2,918.61 HMNE/ZEBREMH 1/33 B 3,200 283,017 29,000 z:ﬁmztﬁﬁ;’ﬂ | B,
% ’ /\4/\




NEEEE : [T —F51072713785A%

RAMRBUT AR/ BME107FESB014L 55015 1t Ff W + 3t 5z 22 W0 7 1

iR e e R E EFEE RELE f&lﬁﬁﬂf?ﬁuﬁk RERREE BERE RES " =
- p ) 7N V=t T ~/\ s = | — _ _
HETE BR/NER h/EE SR HEFELSLR) s E- PN P EBAES (JT) B(r) (78)
107-01-056 — &0 KEE 1098-0000 2,918.61 HBRE/ZERSEMAM 1/33 Bt 3,200 283,017 20,000 |3 FEHR=GKR(ARRRETE
i) , SozEH,
107-01-057 % KER 1098-0000 2,918.61| HBNE/ZEEERA i 1/33 B ¥ 3,200 283,017 29,000 )
107-01-058 % KER 1086-0000 6,137.91| BNE/ZEZERAih 1/33 BER 3,200 595,191 60,000
107-01-059 % KER 1086-0000 6,137.91| HBNE/ZEZERi 1/33 BFR 3,200 595,191 60,000
107-01-060 % KER 1086-0000 6,137.91| HBNE/ZEZERi 1/33 B Rk 3,200 595,191 60,000
107-01-061 —&8 KEER 1086-0000 6,137.91| HNE/ZEEER M 1/33 BXAE 3,200 595,191 60,000
— — 1M : &,
107-01-062 & KEER 1086-0000 6,137.91 MNE/ZEEEMAH 1/33 BXT 3,200 595,191 60,000 D =+ R - &,
107-01-063 —&4 KEBR 1086-0000 6,137.91 BNE/ZERER# 1/33 BREK 3,200 595,191 60,000 [3E=AR(CKRMHREFRT)
i i [ AN 5=
10701064 | =% *iEh 1086-0000 6.137.01 #HE/ZERERA 1133 B2 3,200 595,191 cooo0 | FARBER, HAZ
107-01-065 % KER 1086-0000 6,137.91| HBNE/ZEZERih 1/33 BXE 3,200 595,191 60,000
107-01-066 3 KER 1086-0000 6,137.91| BNE/ZEZERib 1/33 B 3,200 595,191 60,000
107-01-067 % KEER 1086-0000 6,137.91| BNE/ZEZERib 1/33 BRI 3,200 595,191 60,000
107-01-068 & KEER 1086-0000 6,137.91 MNE/ZEEEAH 1/33 BEit 3,200 595,191 60,000
1.2 &,
2=t HHEYN : £,
107-01- 4 161- ) E B 3 469, 47,
07-01-069 TEE iR R R 0161-0000 3,469.00] HEBXE/RBWAM 1/1 R 1,000 3,469,000 347,000 S B S - T
K, HEREEY.
107-01-070 TR RER 1188-0001 8.00 4/387 E3- 17,600 1,456 145
107-01-071 TE4 EFE 1188-0001 8.00 4/387 =R\ 17,600 1,456 145 B . , B
107-01-072 TEMS EF 1188-0001 8.00 4/387 B 17.600 1,456 145 | LESRRREELM , T
107-01-073 TEH £ HL % 1188-0001 8.00 41387 =g 17.600 1456 145 gﬁ' 1;;:2@;2:25
107-01-074 TR REER 1188-0001 8.00 4/387 EXR 17,600 1,456 145 ) gg W - 7’;7% H /A);
107-01-075 TR REER 1188-0001 8.00 4/387 =ER 17,600 1,456 145 ' oy ,A\é '
107-01-076 TR RER 1188-0001 8.00 4/387 =4 17,600 1,456 145 3B =L HELY : &,
107-01-077 TR REE 1188-0001 8.00 4/387 Z=2R 17,600 1,456 145
107-01-078 TR RER 1188-0001 8.00 4/387 e 17,600 1,456 145
107-01-079 TR RER 1190-0001 38.00 4/387 -3 17,600 6,913 691
107-01-080 TR RER 1190-0001 38.00 4/387 Z=AE 17,600 6,913 691 I EESERER i | T
107-01-081 TE®N EFE 1190-0001 38.00 4/387 =8 17,600 6,913 691 FER26. 30, 32. 36EEWY
107-01-082 TR RER 1190-0001 38.00 4/387 3 ) 17,600 6,913 691 REMBEYER , UEEE
107-01-083 TE4 EER 1190-0001 38.00 4/387 ZRE 17,600 6,913 691 BRENZ A%,
107-01-084 TR RELE 1190-0001 38.00 4/387 =ER 17,600 6,913 691 2.8LEE : 3797 FF LR
107-01-085 TR REER 1190-0001 38.00 4/387 =4 17,600 6,913 691 , BEHAE,
107-01-086 TEMS ESE 1190-0001 38.00 4/387 e 17,600 6,913 691 3B =AML : &
107-01-087 TR EHER 1190-0001 38.00 4/387 =15 17,600 6,913 691
107-01-088 LR REER 1202-0000 4,046.00 4/387 = 9426.09 394,191 40,000 | ERESEi | Hb
107-01-089 TR RER 1202-0000 4,046.00 4/387 =R\ 9426.09 394,191 40,000 BYRZ  BAATHERK28
107-01-090 TR RELER 1202-0000 4,046.00 4/387 =8 9426.09 394,191 40,000 EH1, 28 ; TAEK18, 20,
PP P~ T 1902.0000 4.046.00 4/387 =i 9426.09 394,191 40,000 ;2\;12;‘ 34;6;;? ;»,-5?
#H7, 115 ; #Ha%
-01- Tt - ) 4,191 ,
107-01-092 TR RER 1202-0000 4,046.00 4/387 ZEB 9426.09 394,19 40,000 Sy SR bR
107-01-093 TR REE 1202-0000 4,046.00 4/387 TER 9426.09 394,191 40,000 B
107-01-094 TR RER 1202-0000 4,046.00 4/387 3% 9426.09 394,191 40,000 2.8V EE4011.99FF AR
% ’ /\4/\




EXRBEFRAEE107FEES01#1F 01/ b FHHE 1 3th & 2 V%
NEZBEXEE - FibfE —F5E1072713785A%

T /B YW B T IR REFIE T

s e 1 RERER - | %Egﬁgﬁ E%%E ﬁ?ﬁ -
BEHE BhE RS | EREHLR) g;ﬁ;}% MR B4 *&zgzgﬁ WA ) ) %) L
107-01-095 TR RER 1202-0000 4,046.00 4/387 =8 9426.09 394,191 40,000 , BBHAZE.
107-01-096 SR ERE 12020000 4,046.00 41387 *1 9426.09 394,191 20000 |[AHESLEEM : &
1.1 R E .
107-01-097 HEGP tEEE 0940-0000 3,145.00| BHEBXE/BWAt 1/2 BE 700 1,100,750 111,000 2./ ZEHER.

AP =t HBEHN : &

1.8 R E M
107-01-098 EX BEEER 0940-0000 3,145.00 HERXE/BYAHM 1/2 B 700 1,100,750 111,000 [2.”ZEER.
3=t HBAY : £,




